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IEECHERC Ik Co

(1) AHEHAH  (2) AHTAH
(3) dHEEad  (4) A uRAd

fersiferan arfii@ fore a9 & sfagm@ 6t
ST 1 HEEY0 qIEA B 7

(1) W 2) Refea

(3) &N (4) wfaER
FeRl % G § WEWOT Ya™ Hi i
BT T HHTUST AT

(1) TS (2) <O STEvEdl
(3) SiEmETE 4) o
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(1) = ATeeE

(2) TE g

(3) W2 T IS

4) RE TS

o o O o <t Y e T % A
Q oft ST ST an ?

(1) s (2) IES

(3) hreE (4) EFR

HHR F TR AR T WHa a3 ?
(1) 1612%. (2) 1585%.

(3) 1574%. (4) 1541%.

The ornament ‘Memand’ is worn on :
(1) Head (2) Waist
(3) Arm (4) Feet

Vijaydan Detha is associated with
(1) Folk art (2) Folk dance
(3) Folk music (4) Folk literature

For which dynasty Bijolia inscription is
an important source of history ?

(1) Rathore (2) Sisodia

(3) Chauhan (4) Pratihar

Who was the commander of Bhil army
of Maharana Pratap in the battle of
Haldighati ?

(1) Rana Punja (2) Lunna Chawandiya

(3) Jivashah (4) Tara Bhil

Who is called the path demonstrator of
Maharana Pratap ?

(1) Rao Maldev

(2) Rao Chandrasen

(3) Mota Raja Udaisingh
(4) Amar Singh Rathore

Out of the following which place was
also known as Tamravati Nagri ?

(1) Bairath (2) Aahar
(3) Kalibanga (4) Bagore

When did the Maharaja Rai Singh of
Bikaner sat on throne ?
(1) 1612 AD (2) 1585 AD
(3) 1574 AD (4) 1541 AD
0B
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(1) 9.95%
(3) 10.41%

(2) 10.55%
4) 11.45%
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10.

11.

12.

IL

III. Abu hill region
Iv.

Percentage area of Rajasthan to the
total area of India is
(1) 9.95%
(3) 1041%

(2) 10.55%
(4) 11.45%

Which of the following is not correctly
matched ?

River Tributary
(1) Gambhiri — Meshwa
(2) Mahi — Jakham
(3) Kali Sindh — Parwan
(4) Sabarmati - Majam

Which district of Rajasthan have
highest annual rate of potential evapo-
transpiration ?

(1) Ganganagar
(3) Dungarpur

(2) Kota
(4) Jaisalmer

Match the following :
Region
Dungarpur, Banswara
and Pratapgarh area

Local Name
a. Bhomat

Aravali hilly area of b. Hadauti

Dungarpur, East Sirohi
and Udaipur districts

c. Vagad

Kota, Bundi and Baran d. Aburd

area

oI m Iv
(1)
2
3)
4
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In which of the following districts of
Rajasthan sex-ratio decreased during
census 2001 and 2011 ?

(1) Rajsamand and Churu
(2) Ajmer and Dholpur
(3) Ajmer and Jhalawar
(4) Dholpur and Jhalawar



13. HYF(S): U H e &1 fyqor | 13. Statement (S) : The distribution of

AL | population in Rajasthan is uneven.
: Reason (R) : The state has varied
h U1 : Y GEEIIQ qUT IS
R) A . climate and relief features.
Heeh! | feferrar arf s R |

(1) Both (S) and (R) are correct.

(2) (S)is correct but (R) is incorrect.

(1) (S) T (R) g1 el & |
2) S)THE, T (R)Ted R |

3) (S)'ﬂﬁ?{ﬁg,q@ R)TE 2L | (3) (S)is incorrect but (R) is correct.
(4) ()@ (R) O w7 3 | (4) Both (S) and (R) are incorrect.
14, gﬂfﬁaaﬁ’rﬁq 14. Matc.h th.e following : -
Rre b s District Tourist place
I.  Alwar a. Deeg
L & a. II. Ajmer  b. Kolayat
. 3& b, FHiewd I Bikaner  c. SoniJiKi Nasiyan
11 &R c. |Ht St < et IV. Bharatpur d. Pandupol
IV. HEq d. qghe I I I Iv
I I I Iv () a b ¢ d
@) e Vs @ .d 2) ¢ a b d
2) ¢ a b d 3) d 2 b a
3) d c b a 4 b d a c
4 b d a o

15. TR § € I ¥ e F 15. Which is the main factor of localisation
of cement industry in Rajasthan ?

@ HH B ATE 7
(1) Market
(1) ¥R = :
@ G (2) Availability of raw material
3) ThRed S <y (3) Availability of power resources
4) Skilled labour
(@) wifera s &
16. Which districts of Rajasthan fall under
16. TSI & M & fet ‘31 E|Eliil-‘1§ﬁ ‘Humid south-easteiln plain’ agro-
A’ Y -SeTaTg WS  F=id AW S 7 climatic zone ?
W— stgerer (1) Dungarpur and Banswara
1 3 o= (2) Dungarpur, Banswara and Pratapgarh
(2) ERE, ST T TG (3) Rajsamand,  Bhilwara  and
ierarer qun e Chittorgarh
3) USEH~ aAur
©) i (4) Kota, Bundi, Baran, Jhalawar and
(4) R, T, TR, FICTTS T HaE AT Sawai Madhopur

a 4 0B
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(1) @
3 7

HH B SR EET H TN Y T SR ?
(1) dHeA ()
(3) I 4) T

I MeTre, § AT ge feg fewm &
TEAT B ?

(1) fEor-ufyem
(3) I-ufgem

2) =R
@) df=
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HISRT T 3T TG 8

(1) wrEafET 9w % o

(2) T Hi I W TS % R
3) Tem == forg
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= o 7wl B TR & 98 TN
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(A) =€ & aut Ht aRedeica, g 3
AfeFH 7 |

(B) o7 & e NG & TeT i et B |

(1) % (A)TER |

(2) %3 (B)TER |

3) (A)@T (B) QI T& § |

(4) (A) T (B) QM Wdt & € |

Ife g™ § INT-Hiea=iT Thard =1
fwm Ba 2, @ fFw doomE

frerTREl 1 w=r fra s =nfRe ?
(1) Hew@ (2) @
(3) et 4) =78

17.

18.

19.

20.

21.

22.

How many districts are included in ‘Mewat
Area Development Programme’ ?

(1) Three (2) Four
(3) Two (4) Five

‘Which winds is known as doctor wind ?
(2) Bora
(4) Chinook

(1) Harmattan
(3) Foehn

In which direction, trade winds flow in
northern hemisphere ?

(1) South-West  (2) South-East
(3) North-West  (4) North-East

Kaziranga National Park is famous for
(1) Siberian crane

(2) One horned rhinoceros

(3) Snow leopard

(4) Crocodile

Choose the correct answer with the help
of the following statements :

(A) Variability of rainfall in Chennai is
more than Mumbai.

(B) Chennai receives maximum
rainfall from retreating monsoons.

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.
(4) Both (A) and (B) are incorrect.

If a tropical cyclone develops in the
Andaman’s, which port’s authorities
should be most alarmed ?

(1) Kolkata
(3) Colombo -

(2) Rangoon
(4) Chennai



25.

26.

27.

YR § S 91 SHIUHT 94, SAAIETeh!
fe wTad HEI AT R ?

(1) 1991 (2) 1901
3) 1971 4) 1921
e EHT W U F

(1) Rrenfas @ og e =

(2) oY femmer @ wem fewrea &t
(3) HEM fEHTer ¥ HREhRT &l

(4) WA % WEH HgH o R @l

R ! g8 ol €mr fore ow & Ty
AR ?
(1) ==
(3) SN

(2) TR
(4) MR

Iz e i wai R @ 7

(1) e & ufad @2 % Tar
(2) srrforn % i a2 % wen
(3) Eiivg 3 ufget 92 % TER
(4) Efieig % ol e < wEn

frefefaa st T feEm Hifvg -
IR ® T 37U 1 T TSI g5 &
(A) Ircaferss aut

(B) =i i FeTg

(C) 3eaters et

(D) Afe=mor

FHRA A Y

(1) (A)3M(B)TEE |

) (A), (B), (C) IR (D) T E |
(3) (B),(C) 3R (D) WEI¢ |
4) (B) 3 (D)WEE |

23.

24,

25.

26.

27.

Which census year is known as year of

“demographic divide” in India ?

(1) 1991 (2) 1901

(3) 1971 (4) 1921

Great boundary fault separates

(1) Lesser Himalayas from Shivaliks

(2) Great
Himalaya

Himalayas from lesser

(3) Karakoram from great Himalaya
(4) Shivaliks from great Indian plains

Which country has the longest border
with India ?

(1) China

(3) Bangladesh

(2) Pakistan
(4) Myanmar

Where is great barrier reef is located ?

(1) Along the Western coast of
Australia

(2) Along the Eastern coast of
Australia

(3) Along the Western coast of New
Zealand

(4) Along the Eastern coast of New
Zealand

Consider the following statements :

In India the problem of soil erosion is
associated with

(A) excessive rainfall

(B) deforestation

(C) excessive cultivation

(D) overgrazing

Of these statements,

(1) (A) and (B) are correct.

(2) (A), (B), (C) and (D) are correct.
(3) (B), (C) and (D) are correct.

(4) (B) and (D).are correct.

0B



28, ‘ToEAE fauEET ¥ whEar @ s

29.

30.

0B

Herer et frem’ & Srer R i
w=h afeg & ifewame v & Ty
Fedasma s ad € ?

(A) SIS F&d FW H srgufa 7=l &
TG, 3R 39 fo 6t et 1 vk
RN A o qd A g |

(B) 3fFAII Wi 9T Tewy 1 39 e i
93% WY 81 | Uget Gl ¥ U,
38 v 1, 8 98 weqa s
e forfea = &t gt |

(C) TEITd T Tk §&AT & $ o $5
qEd T ¥ gHiT g =R |
TEIIWE:

(1) (A) 3R (B)

3) (B) 3R (C)

(2) (A), (B) 3R (C)
4) (A)3R(C)

frerifend & & #1 TR % e
STIEIHA % Ig R E 7

(1) HrETere garrean

(2) FHRm ureftaTe

(3) &hea et

(4) T TEA

forrife # & Troree™ ¥ F 3 g,
et o A g forelt off ot ofoeg
T TRIW®E ?

(A) ST =Y

(B) Shdeoilg @M

(C) HrETeT FEfe

(D) Rif¥z SrEmea
E IR :

(1) (A)3MR (B)
3) ()R (D)

2) (A) 3 (D)
(4) (B) 3R (D)

28. Which of following statements are

29.

30.

correct according to ‘Rules of
Procedure and Conduct of Business in
Rajasthan Legislative Assembly’ for
Motion of No-confidence in Council of
Ministers in Assembly ?

(A) Leave to move the motion shall be
asked for after questions and
before the list of business for the
day is entered upon.

The member asking for leave shall,
before the commencement of the
sitting for that day, give to the
Secretary a written notice of the
motion which he proposes to
move.

The motion should be favoured by
not less than one tenth of the total
number of members.

Correct Option is :
(1) (A) and (B)
(3) (B)and (C)

(B)

©)

(2) (A), (B) and (C)
4) (A)and (C)

Who among the following has held the
office of the Chief Minister and Deputy
Chief Minister of Rajasthan ?

(1) -Mohanlal Sukhadia
(2) Tika Ram Paliwal
(3) Hari Deo Joshi

(4) Ashok Gehlot

Which of the following Chief Ministers
of Rajasthan have not held the office of
the Minister in any Council of Ministers,
prior to become Chief Minister ?

(A) Jaynarayan Vyas

(B) Barkatullah Khan

(C) Mohanlal Sukhadia

(D) Bhairon Singh Shekhawat
Correct answer is :
(1) (A) and (B)
(3) (C)and (D)

(2) (A) and (D)
(4) (B) and (D)



31, Frifeea @ W w1 gw wE gafed T8
g7
Ricuel e wfE
(1) Hgerel gaErear — &. 9. A
(2) THgeAE @ — SN HIYT
(3) Teraor "R — T Hig HEEA!
4) Niftgdgma - a.&. wE
32, freiferd § & SN A FI IR THR H
TeHifees wrEl gatt wHee afifa %
27

(A) FE-TT Hodl & Gaftrg qeeanati
T foeR T |

(B) W& i 3t Terifas wmel W
e e, i s ioies |
foter o <Y STTaggehaT & |

(C) foresft Al & wem W@ Afema
et R e e, R e ok
3Tatten guam wenferd 7 gt &t |
T IR :

(1) (A)3W(B)

(2) (A)3IR(©)

(3) (A),(B)3M(O)

4) (B)3IM(O)

31.

32.

Which one of the following pair is not
correctly matched ?

~ Chief Minister Chief Secretary

(1) Mohanlal — K.P.U. Menon
Sukhadia

(2) Barkatullah - R.D. Mathur
Khan

(3) ShivCharan - Madan Mohan
Mathur Krishanwali

(4) Bhairon Singh - T.V.Ramnan
Shekhawat

Which of the following are the
functions of the Cabinet Committee on
Political Affairs of Government of
India ?

(A) To deal with problems relating to

Centre-State relations.

(B) To

political issues that have to be

consider economic and

judged with a wider perspective.

(C) To deal with policy matters
concerning foreign affairs that do
not have external or internal

security implications.
Correct answer is :
(1) (A)and(B)
(2) (A)and (C)
(3) (A), (B)and (C)

(4) (B)and (C)
0B
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34.

35.
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TR PN R ?
(1) T & TSI9TA

(2) USEIH % gEwsft
(3) TSR % WA Haft

(4) ISTR & GURTIT g

fr=rifera & & i a1 gm wd gafem T
g7
(T T T g
T &
(e & S &
) ik
TSI & U2 W &
feam)
O 3T e
gafen
@) sheawrt - fgu
3) Reewr - 3w
LU
4 w=y - faEr
RRIES)
frifera & @ fopg o o groream T
TS HAfaf=m, 1994 % Geives &t v
7 vt wfafeat 1 sraam fea mn 2
(1) 1996 (2) 1999
(3) 2000 (4) 2011

33.

34.

35.

Who is the Chairperson of West Zone
Culture Centre, Udaipur ?

(I) Governor of Rajasthan
(2) Chief Minister of Rajasthan
(3) Tourism Minister of Rajasthan

(4) Divisional Commissioner of
Udaipur

Which one of the following pair is not

correctly matched ?

(Chief Minister of
Rajasthan)

(Name of the State

Governor
his tenure
Chief Minister)

(1) Mohanlal — Andhra Pradesh

Sukhadia

(2) Harideo Joshi - Tripura

(3) Shivcharan — Assam
Mathur

(4) Jagannath — Bihar
Pahadia

In which year the provision for
Standing Committees in Panchayats
has been made by amendment in
Rajasthan Panchayati Raj Act, 1994 ?
(1) 1996 (2) 1999
(3) 2000 (4) 2011

where he held the
office  of the
after
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37,
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39.

T STEe Stfufem, 1919 % aga Tfed
5T TRg (FHE A6 ReH)' &
TEe TG B Y ?

(1) el =15

(2) e gEEA
(3) ufagHg et
4) Tagawms gea

f=ifa 3 @ fpen a8 wa e fRan 2 e
“gaehrord Srared! # fava yawen ®# o
3 werd 3 gfg gt foprg 3 e 1 T
R, ToHfas raT 3nfi =
BIh e BT ?

(1) ¥ gfemmed

(2) BT FHATHT

(3) UAres i

(4) < TEH

ra % frifea surmEtE § @ e
JUTEE @) HEdES T grRl w9y
feerams 3 7

(1) 3Famh

(2) HRRSH T

(3) Tfta meh

(4) 3TTE.%. ORI

i e’ gre < T e o gg ?
(1) 1971
(3) 1968

(2) 1967
4 1970

10

36.

37,

38.

39.

Who was the first President of the
Council of States, constituted under
Government of India Act, 1919 ?

(1) Fredrick White

(2) Alexander Muddiman
(3) Sachchidananda Sinha
(4) Vitthal Bhai Patel

Who made the thesis that “the twenty
first century world order would be
characterized by growing tension and
conflict but that this conflict will be
than
ideological, political or economic” ?

cultural in character rather
(1) Semuel Huntington

(2) Francis Fukuyama

(3) Ronald Regan

(4) Barrack Obama

Which one of the following Prime
Ministers of India was administered the
oath of office by the acting President ?

(1) Indira Gandhi
(2) Morarji Desai
(3) Rajeev Gandhi
(4) L K. Gujral

‘Green Peace’

organization was

established in which year ?
(1) 1971 (2) 1967

(3) 1968 (4) 1970
0B



40. fora aftfa/mim 3 7z fawla &

41.

42,
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TSa9T 1 o= a7t § ey 3= wed
T % fou e wft asal @ wee
sfafafere g =nfe, so awda S ar fs
TEE e et ST @

(1) |=um wiufa

(2) TSHAR wfufe

(3) HTHITET TR

(4) g8t ImEm

ue fra agede § %@ w2, ‘™
e % ITEYT 5 e TE g, H
T w < daT S 3 TR TS
% Tore ek i dam A B 2

(1) 3TVE 174 (2) 3TT=BE 248

(3) ITWE315  (4) =D 310

forrifera & @ = oft PrgfRet ¥g s
TR hi FHfree H Prgfs g affy
T I I B 7

(A) T fed de & et

(B) MR ford de o fewdt it

(C) =g, W a8

TE I E

(1) (A) 3R (B)

2) (A)3R(C)

(3) (B) 3R (C)

@ (A),(B)3R(C)

11

40. Which

41.

42,

committee/commission
recommended making the Rajya Sabha
into ‘truly Federal’ upper house with
equal representation for each State,
while continuing to support the
parliamentary system ?

(1) Santhanam Committee
(2) Rajmannar Committee
(3) Sarkaria Commission

(4) Punchhi Commission

Under which Article it is said that,
“subject to the provisions of this article,
there shall be a Public Service
Commission for the Union and a Public
Service Commission for each State” ?

(1) Article 174 (2) Article 248
(3) Article 315 (4) Article 310

Which of the following appointments
require the approval of the
appointments committee of Cabinet of
Government of India ?

(A) Governor of the Reserve Bank of
India

(B) Deputy Governors of Reserve
Bank of India

(C) Chairman, Railway Board
Correct answer is :

(1) (A)and (B)

(2) (A) and (C)

(3) (B)and (C)

(4) (A), (B) and (C)
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44,

45.

gt & = few e el &1 7@ i g

& IR AT :
-1 g-11
(FEH) ()

(A) ST () BfFT eEeTERTE
BUEG) T

(B) 9% ) ¥ febw fw

fenferes LSIERIEENE]
(C) Sl &% (iii) Hfueforew  ws

Hew
(D) faees (iv) B
ShigHA A

(A) (B) (C©) (D)
() (@) 3G 3i) @Gv)
) () () @Gv) (i)
(3) (i) Gv) @) @)
@ (iv) (i) () @
forifra wRa & STegUfeal H @ HA |
R Fraffa gu 7
(A) TH. TUHIH
B) 3. s<h
(C) . Tegrgeag
(D) .4t firdy
T |WE
(1) (A) 3 (B)
(3) (A) 3R (C)

2) (B) 3R (C)
4) (A),(B)3MR(C)

*Fraw o7 i, <t T foR 9 g8 ?
(1) 1981 (2) 1983
(3) 1985 (4) 1987
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43.

45.

Match List-I with List-II and select the |
correct answer using the codes given
below the lists :

List - I List-1I
(Authors) (Books)
(A) Jagdish (i) Making
Bhagwati Globalization Work
(B) Joseph (ii) In Defense of
Stiglitz Globalisation
(C) Ulrich (iii) Capitalism and
Beck Freedom
(D) Milton (iv) What is
Friedman

Globalization ?
@ ® © ®

(H @ @) (@) Gv)

(2 Gy @@ Gav) (ii)

(3) @Gi) Gv) @ ()

@ (Gv) (i) @) @)

Which of the following Vice-Presidents

of India have been elected unopposed ?

(A) S. Radhakrishnan

(B) B.D. Jatti

(C) M. Hidayatullah

(D) V.V.Giri

Correct answer is :

(1) (A) and (B)

(3) (A)and (C)

(2) (B)and(C)
4) (A),(B) & ()

‘Asom Gana Parishad’ was established
in which year ?
(1) 1981
(3) 1985

(2) 1983

(4) 1987
0B



46.

47.

49.

0B

frtifera gmi # @ 1 a1 w& gafea &
27

R
wfum™ &t wreEet
AT
(1) 255 (1) (1) — Trsgafer Y o Wl
) 18(3) — Tsgufa hi weia
(3) 113(3) — qrsgafer 6t Ry
@) 304 (@) - sgafa o wfiepla

srifoues fedt a1 7-gAi & o Faedt
fadl & = fokm w@edt EuE

wfyu™ & fp sg=Rg H 3 ?
(1) 261 (2) 262
(3) 263 4) 264

g 1 g’ ferer feam 2

(1) S B 0

(2)

(3) &R

4) Fwa. g

FIA Nt 1 ey feifea 3§ @
freqe ?

(1) i weam

(2) Tz

(3) VST ISR hl HH H &g
(4) INTAHATE Bl Tehe B
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46.

47.

49.

Which one of the following pair is not
correctly matched ?

Article of the Terminology
Constitution of
India

(1) 255(1)(c) — Previous sanction
of the President

(2) 18(3) — Consent of the
President

(3) 113(3) — Recommendation
of the President

(4) 304(b) — Acceptance of the
President

Adjudication of Disputes relating to
waters of Interstate rivers or river valleys
related provisions stated in which article
of the Constitution of India ?

(1) 261 (2) 262
(3) 263 (4) 264

Who has given the
Brinkmanship’ ?

(1) John Foster Dulles
(2) George Bush
(3) Roosevelt

‘Theory of

(4) Harry S. Truman

‘The Kyoto Protocol’ is related to

which theme ?

(1) Economic Co-operation
(2) Disarmament

(3) To reduce global warming

(4) To stop terrorism



50. 2003 ¥ fore < & U FieqgM (Tersit

51

52.

) 88 7
(1) S&d
(2) T
(3) ST

“4) &9

wife & foTe war yeae’ w1 3 e
AT | ST AR ?

(1) & =

(2) g

3) ™M

(4) THE N

frifera o & v W 3w wd gafra o
g7
(3nferemTites amE)
(1) 9rd foew &= s
forgrdt aroreft Y <= T - 1979
(2) s gyEEE sl e
CIRCIERIE]

(3) =W & guEE &t T
WA I

(4) == = sgafa R sifim
T WA I

()

- 1988

- 1992

- 1996
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50.

=3

52.

‘Rose Revolution’ took place in which

country in 2003 ?
(1) Belarus
(2) Ukraine
(3) Georgia

(4) Russia

‘Uniting for Peace Resolution’ is also

called as :

(1) Roosevelt Plan
(2) Truman Plan
(3) Kennedy Plan

(4) Acheson Plan

Which of the following pair is not
correctly matched ?

(Official Visit)

(1) Indian Foreign
Minister Atal Bihari
Vajpayee’s Visit to
China

Indian Prime
Minister Rajeev
Gandhi’s Visit to
China -
Chinese Prime
Minister Li Peng’s
Visit to India
Chinese President
Jiang Zemin’s Visit
to India - -

(Year)

- 1979
(2)

1988
3)

- 1992
4)

1996

0B



53.

54.

5S.

56.

7.

0B

dfaeq afy § ot & omEw SeM 2,
frfeRaa # @ 5 afeiemn dIr $
TR 7

(1) e = afErs

(2) SRR — ST i

(3) HTE — T8 YT

(4) TeTeT sty i

T 8 H, T & forg fpehe Raaet

I sy firhe ® ¥ (YU &)
g ?

(1) = Rig
(3) iy fe

) e
(4) Gl T8Hg

B 8 o, Trerear ¥ feraes forg wer i
TN HITER ?

(1) Terehr fafepearert & e
) TN fraerl % foe
(3) TSEhIg BETEMI & fog
(4) Tgas =l < fore

fierarer § g & #, I gU afsewa
el HIFTAH G ?

(1) SETEteTel 8% Afgehdt it
(2) IEEH UfESHA Hicts
(3) T faeRmS Afswer wiers
(4) Tl Afseret Hic

e Tt A 5 s AR )
IETEIRUNECRS |G R

(1) 60,0006 (2) ¥40,000dH
(3) ¥75000d% (4) ¥50,000dH
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53.

54.

55.

56.

57.

To increase the flow of water in
Bisalpur dam, which of the following .
project has been initiated ?

(1) Parwan Irrigation Project
(2) Brahmini-Banas Project
(3) Mahi-Banas Project

(4) Gadrada Dam Project

Which cricket player of Rajasthan has
recently debuted the international cricket
matches ?

(1) Pankaj Singh (2) Ram Singh
(3) Nathu Singh  (4) Khalil Ahmad

Recently, the star ranking started in
Rajasthan for whom ?

(1) for Government Hospitals
(2) for Government Schools
(3) for Government Hostels

(4) for Roadways Buses

What is the name of newly opened medical

college in Bhilwara ?

(1) Jawaharlal Nehru Medical College

(2) Ambedkar Medical College

(3) Rajmata Vijaya Raje Medical
College

(4) Geetanjali Medical College

How much amount is given to the daughter
under Chief Minister Rajshri Yojana ?

(1) Upto T 60,000 (2) Upto X 40,000
(3) Upto ¥ 75,000 (4) Upto X 50,000



58.

59.

60.

61.

62.

63.

TR THER 3 yfarht ghenst it
ot 3 f & @ B 2 3 Mard
TYE AR ?
(1) feumd

(3) HETH

2) f=x
4) TR

et 3 e T S g et

R e # fred o 1 R dwme
ATHI f AT R 7
(1) THay
(3) d=ad

) qrad
(4) IR

Frrifera & & Torea %1 1 a1 R, Ay
TANT GRT Wewehiah Rl Y vael S
T 2018 § iR T @ 7

(1) Heg 2) &wi

3) O

e # =t & 99or & gun ¥g
‘T G AT HT TRE Y ?

(1) 29, 2018 (2) 1@, 2018
(3) 198, 2017 (4) 2, 2017

TSI §9C 2018-19 § T =07 1
fham wfewa iy way e

Yara A R 2
(1) 37.72% (2) 48.22%
(3) 40.92% 4) 28.22%

IF  wEET 2017-18 F  IEER,
2004-2016 % SR WA § IRafas HY
Heber TR IeTe, gfg (Sfererer ) et <t 2
(1) 32% 2) 3.1%
3) 3.0% 4) 3.3%
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58.

59.

60.

61.

62.

63.

Which of the following free mobile App
has been launched by Rajasthan
Government to prepare for competitive
examinations ?

(1) DISHARI
(3) COMEXAM

(2) REEDER
(4) EVERNOTE

In Rajasthan, how many years of child
care leave is given to women employees
in their entire service ?

(1) One year
(3) Three years

(2) Two years
(4) Four years

Which of the following district of
Rajasthan is not included in the First
Delta Ranking 2018 of aspirational
districts of NITI Aayog ?

(1) Dholpur (2) Baran
(3) Sirohi (4) Churu

When is ‘Annapurna Milk Scheme’
started in Rajasthan to improve the
nutritional level in children ?

(1) 2™ July, 2018 (2) 1% July, 2018
(3) 1*July,2017 (4) 2" July, 2017

What is the percentage of total
expenditure, proposed on social and
community services, in the Rajasthan
Budget 2018-19 ?

(1) 37.72%
(3) 40.92%

(2) 48.22%
(4) 28.22%
According to Economic Survey 2017-18,
Real Agricultural GDP growth (in

percent) in India during 2004-2016 had
been :

(1) 32%
(3) 3.0%

2) 3.1%
@) 3.3%
0B



64. TrefaRad § & @ TP 3T & LR 2

65.

66.

67.

0B

(1) NDPgc
(3) NDPyp

(2) NNPyp
(4) NNPg-

¥ wifead saed (S @ ) F
FFER, TAAH 8 375 31 R 101 HT YR
TR ?

(1) 2008-09
(2) 2009-10
(3) 2010-11
(4) 2011-12

() e @, I e AW
gt e danad 1 s T R |

(i) ... 7 HA 5 e sh e d. §
Y IRE R TS & |

TR A PN I/ A FA T B/2 ?

(1) e (i)

(2) e (i)

(3) QI (i) = (i)

@) ()T (i) P13 T

e & A W 1 W T S G e

¥ T Qe T @ A & frean g 2

(1) <81 TR | &S

(2) TF TG TIC FH GHAT ST hearel

@) @R # HE Jggam T @ A/
JATITIHAT 8] |

(4) 9a ® 5T H Hal W AEH
TR
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65.

66.

67.

Which of the following is equal to the
National Income ?

(1) NDPgc
(3) NDPy,

(2) NNP,;p
(4) NNPg.

As per Central Statistics Office (CSO),
which is the present base year of IIP
calculations ?

(1) 2008-09
(2) 2009-10
(3) 2010-11
(4) 2011-12

Read the following statements :

(i) National income is the monetary value
of all final goods and services
produced.

(ii) Depreciation is deducted from GNP to
get NNP.

Which of these statements is/are correct ?
(1) Only (i)

(2) Only (i1)

(3) Both (i) and (i1)

(4) None (i) and (ii)

Which of the following benefits is not
available in the bank account opened under
Pradhan Mantri Jan Dhan Yojna ?

(D
(2

Interest on Deposit.

Accidental Insurance cover of
Z 10.00 lakhs.

No minimum balance is required
in the account.

3)

(4)

Easy transfer of money across the
India.



78.

79.

80.

81.

82.

sifwefy, arfraf, Swafe qen fom
ot et S &9 2 ?

(1) = Y st e

(2) amien fafterand

(3) Sufares fafmrand

@) =fifes fafrand

iR s g ?

(1) ARnm 1 A g — S
2) AT 1 & fagia — afem
(3) AT ftrm fagma — SR

@) - e figia — YieEs

s H TRE Ifs @ e w®
ToTferd i &

(1) SITgsHA

(2) STaTE

(3) hee FATTHFA

(4) SR T SR ST

Frerifeea # utergs % SgER ARFH &
wrefies frem 8 7

(1) wrgwa < frm

(2) 3 1w

(3) 3reHieRTor &1

4) v e

TR % e o fre o @ W |1 e
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(1) 9§ HIEH TGH HT 8 |

(2) 8 GEEAT H GHTHH T § |

(3) a8 PR e areh wiF A& 2 |

(4) FHREISH i Sufef § SRt T,
T e st A R wEar R |
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78.

79.

80.

81.

82.

Interest, Attitude, Achievement and Sex come
under the area of following differences :

(1) Internal differences of a person

(2) Social differences

(3) Individual differences

(4) Characteristic differences

Which of the following pair is incorrect ?
(1) Sign Theory of Learning — Tolman
(2) Field Theory of Learning — Lewin
(3) Social Learning Theory — Bruner
(4) Trial and Error Theory —Thorndike

Factors which affect a child’s physical
growth and development are :

(1) Heredity

(2) Environment

(3) Only Heredity

(4) Both Heredity and Environment

Which of the following is the primary law
of learning according to Thorndike ?

(1) Law of Anology

(2) Law of Exercise

(3) Law of Assimilation

(4) Law of Disposition

Which of the following-is incorrect with
reference to adjustment ?

(1)
(2)
(3)
(4)

It provides balance.
It solves the problem.
It is not a continuous process.
In the absence of adjustment one is
surrounded by tension, struggle
and anxiety.

0B



83.

84.

85.

86.

87.

oB

YHTHRT i forRryar gt 2 :
(1) Dfersar

(2) vaTgsfierar

(3) wA=iteTaH

(4) Tt fmen

w Tes & fou fren mfemm 6

ITEIAATE

(1) (37): FIFTA WA H IR §
SR & for |

(2) (F) : ST HI AEITHAT HI
TSR & T |

(3) (31) T (¥) TR E |

@) (31) 71 (9) QHI eI B |

Ftrm wfim/smmd @=  sfieaw
B EI

(1) JTHHS

(2) @nfed

(3) @

@) T Syefer e

(1) @i wfgd
2) T Hfza

(3) & i

%) fowaFfza

e gro wfamfen difes @@= &
Hise § Y | frad aal &) gl
frrman g 7

(1) 100

(2) 120

(3) 200

4) 150
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83.

84.

85.

86.

87.

Characteristics of creativity is :
(1) Originality

(2) Fluency

(3) Flexibility

(4) All given options

Utility of educational psychology for
teacher is :

(1) (A): To know about self-knowledge
and preparation.

(B) : To know about needs of
children.

Both (A) and (B) are true.
Both (A) and (B) are false.

()

3)
4)

Learning disabled children are mostly

(1)
2
3)
@

aggressive
organised
consistent

under achievers

Psychology has made education :
(1) Curriculum centred

(2) Teacher centred

(3) Child centred

(4) Subject centred

How many factors are initially included in
Guilford’s model of structure of intellect ?

(1) 100
(2) 120
(3) 200
4) 150



88.

89.

91.

92.

93.

qHm IRG 8
(1) w2 favea s fog
(3) HEewrHl % oI (4) STEATTRRI % fog

FIT F 5T TS & FE H B T
# Fedeh 1 Spe F1a 7T I AT
?7

(1) TENE TFETARiE-1

(2) weE fvifde

(3) WERTd SHeRiE-1

(4) HEWTE VAT tRE-11

sfiodt et Toem & fea feam
AT Q qrEg @ ?

(1) = (2) Teitferan

(3) TE (4) we

BIAT-HTE FaH! § gren 6l faame & amg
3 oft

(1) 399
(3) 14=%

WMrefs W aTe Toey™ & foa
IEEE: kA

(2 1199
4) 1699

(1) FH (2) wrwETeT

(3) 33K (4) FdMTE
TR} T T T SR R

(1) e | (2) Freaferal d
(3) HRI A 4) Heia

forq Tsa % weTHUEE A 1936 . | M
fe=q’ w7
(1) 33
(3) Het
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88.
“ (1) Jains

89.

91.

92.

93.

9.

Mukam is famous for
(2) Vishnois

(3) Muslims (4) Jasnathis

Which period of the ruler of Kota is
supposed to be excellent period for the
Kota school of painting ?

(1) Maharao Shatrusal Singh-I
(2) Maharao Kishore Singh

(3) Maharao Ummed Singh-I
(4) Maharao Shatrusal Singh-II

Smt. Rama Devi was associated to which
peasant movement of Rajasthan ?

(1) Begun (2) Bijolia
(3) Barad (4) Bikaner

In the story of ‘Dhola-Maru’, the age of
Dhola at the time of his marriage was :

(2) 11 years
(4) 16 years

(1) 3years
(3) 14 years

In which district of Rajasthan is the
historical place Mangarh situated ?

(1) Dungarpur
(3) Udaipur

(2) Banswara
(4) Pratapgarh

Gawari folk dance is
associated with

(1) the Garasias
(3) the Kanjars

basically

(2) the Kalbelias
(4) the Bhils

The Prajamandal of which princely state
had observed ‘Krishna Day’ in 1936 ?
(1) Udaipur (2) Kota

(3) Karauli (4) Jodhpur

0B
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AN TUT TG & HellcAsh avg
fras@®E ?

(1) ToR-wfgR  (2) <&H

(3) Tfea-REifen 4) e

form gt =1 “rgefteett T & oft ST T
87 |

(1) ARG fher (ITomR)

(2) arrg e ()

(3) TR TG

(4) Teamom =1 feem

qTeLSit 3T J&T e e R -
(1) Jrewian i

(2) Sirergfen i

(3) Hie i

(4) Ui

IR-TRETST 1 T H e e

BT ?

(1) 26 5=, 1956
(2) 19aw=R, 1956
(3) 26 SHat, 1950
(4) 30 9T, 1949

I Ay ToreE F R R E 2
(1) I @) ¥&

(3) TS 4) He
Sfrorarar =1 der TR & g e §
T IR TR AT R ?

(1) R 2) #w

(3) TRWEIR  (4) R

9s.

96.

97.

98.

99.

To which age does the artistic
splendour of Abhaneri and Rajoregarh
belong ?

(1) Gurjar-Pratihar (2) Chauhan
(3) Guhil-Sisodia (4) Rathore

Which fort is also known as Garhbeetali ?

(1) Taragarh Fort (Ajmer)

(2) Taragarh Fort (Bundi)
(3) Jalore Fort

(4) Siwana Fort

Pabuji’s main pilgrimage site is :
(1) Thikaria village

(2) Jodhpuria village

(3) Kaulo village

(4) Panchota village

When was Ajmer-Merwara merged
with Rajasthan ?

(1) 26" January, 1956
(2) 1% November, 1956
(3) 26" January, 1950
(4) 30" March, 1949

In which district of Rajasthan is the
temple of Charchauma situated ?

(1) Kota (2) Bundi

(3) Jhalawar (4) Sikar

100. Jina Mata’a fair is held twice in a year

in which district of Rajasthan ?
(1) Sirohi (2) Sikar
(3) Sawai Madhopur (4) Jalore
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